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A man purchased an article for R 1250 and sold it for Rfind

the profit %.
T ATeHT ¥ 1250 Tua # vk w& @it R 3@ 1500 voa 7 = feam emw % 7

E l 7<luo

(a) 7 5 % (b) 16% (c) 15% (d) 20%




A man purchased an article for Rs 1050 and sold it for Rs 735
find the loss %.
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A man purchased an article for Rand on selling he has loss
of 12 (1 %0.find the selling price_ =

e e 3 (1600 v o e i afe {2 (1/2) %) w1 g 1 o s e
EQIE |

(a) 2800




A man sold an article for rs 3300 and on selling he has loss of
25% .Find the cost price .

Tk St ¥ U e @ 72 ﬁamaﬁwéaﬁmmﬁgélmn@

AT hifeTu) 519
(a) 3800 b 4400 (c) 5250 /@) (d) 1 00
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Giri bought and old machine for Rs. 2,000 and spent Rs. 500 on its repair. He

sold it for Rs. 4,800. His profit percentage is: s
Y 2 .(2,000) G T WO AR A T @
Td fhu| S8 4,000 ¥UI 3 | 3BT T ufaels

( SSC CHSL 2021) 2SS DY o

(a) 30% (b) 60% (c) 40% (d) 20% S
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A shopkeeper earn 20 % loss on selling price, find the loss % on his cost

price :

stu'{ 20% BT HATAT &, AT 57T Hed U1 FTH AT hi?

(A) 20 % @ (C) 25 %




A shopkeeper earn 25 % profit on selllng pr104), find the profit % on his

cost price :

W%ﬁrmq e U AT % F

(A) 20 % (B) 16 67
@
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A person sold an item for 25% loss at Rs. 6750. If he sells it at

15% profit then what is its sellin price I

éam%?ﬁsmm Wfﬁﬁﬂ?ﬁ%

A) 105305 | ®)9950% “5° (103509
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If an article is sold for ¥ 550 then the profit i At what price

should the article be sold to make 10% loss ?
e Ueh &G T 550 B, | ST AT AT 10 % T AT ST &, TH T i

forer . 3 arer e AT 104 e B 21 2
(A)T450> (B)Z460 SSp (C)E300 (D) 470
X 1o
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If an article is sold atoﬁt—m%te&d 0 then he receives ¥
LP.oft

more than the first price . Find out th he article ?

aﬁﬁm”ra@ﬁ'ﬁﬁrsﬁ @ ¢ R A= AT 20 Fariren e

G5 G
81 g A Fe A i (10 /) 2 @
(A) T200 (B) %210 ( DY 400
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An article is sold at oss . If the article is sold{@ﬂ}ore than the first

S.P. then he ge W Find out the selling pricM article when the

profit is 25 % ? Qe A 8 c_% qb
wa@ﬁzo%mﬁrmémm%mﬁzooa awﬁL ?@537*

gt S feha &, W ST SITQ ATfeh |25 % T o1 jgraT

(A) T 2400 (B) £2100 (C) 2500 (D) 5000
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selling a tape - recorder for Z 1040 a man galn‘ If he sells if for
%;:S %Wll be’
Ueh T

| T 1040 ﬁaaﬁmqsﬁ-aﬁsﬁ@m%mﬁ:a%
W T 950 W S aF 3N Tewaw uferra griv gnft 2

M B)4% | 0_(%21% [ (1))4.5*:/0
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By selling a radio for ? 1900 a man loss S5 % . If he sells if for@, his
profit % will be ? Qo =1 5'/

T AT T E 1900 ﬁ%ﬂgwﬁgﬁ 5% ch BT BIdT 81 Tl =g Tie
Y % 2200 T ST &, A IHRTATH % B2

(A)S % (B) 14 %

1K

(D) 4.5 %
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For an article the profit is 170% of the cost price. If the cost price

increases by 20% but the selling price remains same, then what is the

new profit percentage?

Teh & o hdl Hed © @* BT 3§ | i vl 7o - gIdT & Tifehd
Torshar Wodr O AT €, Y 4T ST Wi fehet 82

A) 41 B) 50 C) 75 5
“ N (O;

Y20 7,




/" MATHS /

A man was selling an article at a profit of 10%. If the selling price of

the article is doubled, then find the new profit percent.

Ueh ATH| 10% S T U Ueh & o< T&T AT | A(G & kT Tolehd Hed ST &l

SATO, a7 AT ATH TTa9Td Ta9re ST shiteT |

1.20% 2. 110% 4.240%
6O
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Loss incurred by selling an article forf Rs 600)is equal to profit gained by

selling same article fgf Rs 1000 Find the cost price of this article?
el oI&q T 600 . H 99 W AT BT AR ’
FNAT gl T T [T T AT

1- 800 2-1200 3-550
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The profit earned n an article is sold for Rs. 800 is equal to the loss incurred

when it is sold for Rs. 550. At what price should the article be sold if it is

S _l_,s )
desired to make a profit of 20%. = i B — - =

800 TUX H el AT U AT TTH 550 . H I& W Y -I;hLHI-I ohama'{%l T
ﬁmsﬁwrmémwaﬁq HTATHEI ST |35

1) 325 2) 810 3) 900 4) 750
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The profit triples if the selling price is doubled. The profit
percentage is:

gie; fahT Hed oIl o f&am ST af o |l IT &
AT &1 oI Ufa’ra &:( SSC CHSL 2021)

(a) 110 (b)50 (c)100 (d) 28
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A woman sold her earphone for 2,000 and got a percentage profit
equal to the numerical value ‘ cost price. The cost price of the

earphone 3

Uch HAgell d HUAT SIXBIA 2,000 H 9T 3R AT Hed &
HEIcHAD Hed D o Qldﬁlﬂmﬁmlmﬁw
AT A3 & (SSC CHSL 2021

(a) 500 (b) (d) 400
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